
FITTING 
INSTRUCTIONS

A division of Specialist Wholesalers Pty. Ltd.     ABN 64 163 280 279
VIC  PH: 03 8687 1700  |  QLD PH: 07 37377420  |  Email: sales@roadsafe.com.auroadsafe.com.au

Disconnect negative terminal from battery.

Remove bolts from earth on inner guard and A/C bracket.

Remove plastic cable mount from inner guard.

Remove front half of inner wheel arch lining and remove indicated 
bolt. Partially install M6 x 30mm bolt into existing thread. 

Place battery tray into position ensuring lower battery arm does 
not pinch any wires or piping.

Place earth strap over upper tray arm and secure.

Drill two M6 holes into wheel arch using the tray bracket as a 
template. Rust protect and secure tray arm using the supplied 
mounting plate inside the wheel arch.

Tighten all bolts and ensure adequate clearance to all other 
components. Place battery into position and secure into place 
using the supplied battery strap and J bolts. 

Secure battery strap to vehicle front radiator support.

Place lower battery arm over M6 x 30mm bolt installed in step 4 
and secure.

1.

2.

3.

4.

5.

7.
8.

7.

8.

9.

10.

6.

See figure 1.

See figure 1.

See figure 2.

See figure 3.

See figure 3.

Figure 1

Figure 2

Figure 3

VEHICLE    Toyota Prado 150 2015+ 2.8L Diesel
PRODUCT    Auxiliary Battery Tray 
PRODUCT CODE    BT102_BLACK 
NOTE	 Recommended installation by qualified automotive technician

Tools required:

Hardware supplied:

Component list:
•	 10mm Socket 
•	 12mm Socket 
•	 6mm Drill 

•	 4 x M6x1.0*16L Flange Bolt
•	 1 x M6x1.0*30L Flange Bolt
•	 4 x M6 Nyloc Nut

•	 1 x Battery tray 
•	 1 x Mounting Plate 
•	 1 x Battery Clamp 
•	 2 x Tie Down rod

•	 2 x M8 Nyloc Nut
•	 3 x M8 Washer

DURING RECOVERY ALWAYS USE BOTH RECOVERY POINTS


